Review 6.1-6.4

1) Let f(x) = —x*+4x+1,and g (x) = Vx + 2 find the following:

a) Domain of f (x) b) Domain of g (x)
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2)

Temperature Conversion The formula to convert temperatures from degrees

Celsius to Fahrenheitis F = %C + 32. Write the inverse function, which converts
temperatures from Fahrenheit to Celsius. What is the Celsius temperature that is

equal to 94 degrees Fahrenheit?
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3) Find the inverse of the function. Verify your answer.
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4) On a certain day, the function that gives Japanese yen in terms of U.S. dollars is y = 110.16d
where yrepresents yen and drepresents dollars.
a) Find the inverse function.
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b) How many dollars do you receive for 412 yen?
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¢) The function that gives Indian rupees in terms of U.S. dollars if r = 43.94d where r
represents rupees and drepresents dollars. How many rupees do you receive for 529 yen?
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5) Use the table below to answer each of the following questions.
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6) Let f(x) =2x>+3x+ 1Find
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9) Graph the function y = ~Vx-4-2. Find the domain and range. Describe the transformations
from the parent function y = VX

y
J ' Domain: _[_ M co)
4 Range: (-oc’, -’zj
ions: Tkt H
B o AR AR Transformations &
=2 down 2
B “‘ﬂ\_» veblecked ol X-ows
—6| ?c‘ah‘%‘&
*Jv (4, -2
(S, "Q
(8, -4)

13) Graph the function y = 4Vx + 1+ 4. Find the domain and range. Describe the
transformations from the parent function y = vx

Domain: -|, €O

Jy

5 S Range: | 4, )

=T €
.

2 Transformations: 'ef+ |

= v L\
-(..;s I W . 0 ] 4 6 | 8, P
— verhully  shronWi
\

= by
=5 PO \Y\'\b

Y

(-, Q)

(3, 5)



14) Graph the function y = 2Vx + 3. Find the domain and range. Describe the transformations
from the parent function y = vx
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15) Graph the function y < Vx—5. Find the domain and range. Describe the transformations
from the parent function y = vx
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16) Graph the function y > Vx + 4 - 5. Find the domain and range. Describe the transformations
from the parent function y = VX
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17) Graph the function y >-2vx. Find the domain and range. Describe the transformations
from the parent function y = v
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18) Simplify the following:
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